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@ x-2>0

@ 2x -3
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e % x =2 512 2 REAeY
D 3x>6 (@)x>5—2x
@ 2x+3<4 ® x+4<-1

® —4x+1>-x
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2>5-2%2
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. -x+2>-1
L, 2x<—-x-3
C.—x—-22>2
2. x-4<-5
g, 2x-1>x-3
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x = -3& thgsto] H540] YK o] Folt.
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D a+1>b+1

@—a—l—1>—b+1
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@ a-1>b-1

@ 2a-1>2b-1
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® x=0 @ x=1 ® x=2 @xz?» @x:4

Dx=021,2x0-3=-3>2(AA)
@x=1¥91, 2x1-3=-1>2(AA)
@x=291,2x2-3=1>2 (A3
@x=3%21,2x3-3=3>2(H)
@Ox=4¢4M,2x4-3=5>2 (%)
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O x=-1

@x:3
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@ x=1 @ x=2
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Dx=-1<d,2x
@x=1¥d,2x1

@Ox=2¢ 0 2x2-
@x=3Y Y, 2x3-
®x=5Ldm,2x5-

-1-3=-5>2(#3)
-3=-1>2(#AA)
3=1>2(AA)
3=3>2 (%)
3=7>2 (%)
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@ 2x+3<4 ® x+4<-1
@ x>6-3x

2>6-3x2=0 (%)
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11. a<bh @ M, S 5 F557 B A2?
D a+4<b+4 @ -54+a<-5+b
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@ 3a-1<3b-1 @ga<gb

@—Ba <-=3b
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L —4x+6>18




13.

x<4 Do, 2x+1 9 gho] Mel=?

DO -2x+1<-7 @—2x+1>—7
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® -2x+1<7
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15-9x<8—-4x+ 24
-9x+4x<32-15




@x—7<0

@ 2x-3

@ x2+3<0

® x+6=0

® 3x-1<3(x-1)

@x-7<0




@ x+2<x-3

@ 2x-3=3x

@)2(3-x) <x+3

@ x+1<x?

® 3x+2<-3+3x

-3x+3<0

6-—2x<x+3,

2(3—x) <x+3,
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@ -2x<3x-8

® -x-5>-3x-5

@3(x—4) > —6 + 3x

® -5x+1>1-3x

® —2x2 +4x > x — 2x2
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